V//4

n o
W77 =h)LT—73 / Technical Datall A / Components
No. £ %5 / Part name #E / Pcs #'&E / Material - RmME / Color+Finish
#ifhILY / Recommended torque NPT . 7 LEHAF v RF ADCI2 SA— TS BE (NERILE)
M25 : 0.15N*m ~ 02N*m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
Btk TILSIRH A A6063S-T5 DI —-E % (NERRILIE)
M3.M4 : 0.3N*m ~ 0.6N-m 2 Frame 2 Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
5 Ib—4L 4 7L AB063S-T5 DILN— B (RERRILE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
. IR ) 7ILZHR A1100P DILN—EBE (REERLE)
Panel Aluminium A1100P Silver=Painted (Conductive inside)
5 HN— : 7 ILZHR A1100P DILNA— K (REERLE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 Thi— : 7 JLE4R A1100P DILNA—-Zx (EEERELE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
=FN-) TPE (Z5RK) TIvY
; Rubber feet 4 TPE (Elastomer) Black
TILZR FILZ & )AT LA DILIN—T LI & TTVY
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
g HR{FE R (MMM3 x 8) 1 &% ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 BATE X (BFM3 x 5) i &% I ILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 RAER (131 2FM4 x 8) 4 E7S ZfERI0A—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
» BFER GETFRHLEFAM25 x 7) g &% = LAvE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

BIZFE / Product Number 3
AUP - - -
N N N . 1
H~Ti& W& Dtk BR/A EXP/H) ik
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type
B AL#k / Feet specification EHE X4L#% / Original trapezoid head screw specification
. 2
10 12 I
E:IVAE / Rubber feet FILEE / Aluminium feet IEl 7SR / Phillips 733 / Hexagon—socket
. {14% / Color Type %/ Title
W =3 N & = S ﬁ I’""_l
i85 / Code a—+—7B8v% / Corner block {8I#R / Frame I\ / Panel #$1/3— / Top cover | T//5— / Bottom cover TAKACHI| HARMINFERIR INRIVERT LI Yy r—R /8 S
S S < )LsS— / Silver < )LiN— / Silver | < JLsN— / Silver < )L13— / Silver < )LsS— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS R 5o
S B 7594 / Black 2 )Ls8— / Silver | 2)LsS— / Silver 2 JLsN— / Silver 2 )LsS— / Silver 8/ Approved 1% [B/Checked [ /Created F4Z/Product number =/ oeale
¥ A& AUP177-36-500 -1 —
~N— /Page
1 B /Date 2024/05/23 1717
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

B-B(1:6)

313

M.

453

177+0.5

H I

E view

o
o))

s8]

—

N
o))

. y

15

C view

A-A(1:6) C-C(1:6)
o o
Lo ~
486 352
B view
500+0.8
4/ Title
TAKACHI| X2 hFERIE INRILBBRTILZS S r—R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS —
A B/ Approved 1&X]/Checked #[X/Created FIFE /Product number RIE/Scale
1:6
iR F AR AUP177-36-501 -0 s y -
{ERX B /Date 2024/05/23 2 /17

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fBl#® / C Frame
450

176

14

##

B =

M3
5 2-M3FH SR
2—-M3 Countersunk

X RxImE+E EHE / Same on the other side.
M / Front side

D {81#% / D Frame

3@ / Front side

169.7

22.5

3.3

3.3

Z M| / Back side

ZE M / Back side

mnd/Title
TAKACHI| Bt ahFERTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
3/ Approved 1&[X/Checked #I[X]/Created FIE /Product number RE/Scale
1:35
iR £ fii A R—/Page
H177 — D500 1ERk B /Date 2024/05/15 3 /17

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




310 6.8 2

225

0
<
1.6
)
©, ©
Y 2 o
N
5 3 3.3
2-M3FAH SR
2-M3 Countersunk
147K / Total 4 pieces
4/ Title A —
A ==
TAKACHI] #HASHSNFEHRTE IL—L O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
£/ Approved #% X/ Checked #I[X]/Created FIE /Product number RIE/Scale
1:15
iR = B o
W360 1ERk B /Date 2024/05/15 4 /7
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\FRRJL / A Panel

164

309.5

RM® / Front side

B /\®x)L / B Panel

[— 28 725
LV 4 W
£N £5

L NZ se_

B#TiE / Max dim.302+0.5

) 725
A4 AV 4
£ £

L_N#& e

%M@ / Front side

B#TiE / Max dim.143.6 05

REE—HA

Surface protective film side

4-M25F AR ILRI)—T
4-Metal sleeve for M2.5

fREES—HMA

Surface protective film side

3.5 2 286
1 ¢ ©
0
[{=]
o
1 ©® ©
ZZ M| / Back side
1 ¢ ]
1 o e
ZE M / Back side
4/ Title A —
TAKACHI| X2 hFERIE ISR \CD [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A B/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR £ fiE A R—/Page
H177 — W360 YR B /Date 2024/05/15 5 /1

AREDEFEIIBRXESHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO.,

LTD. All Rights Reserved.




349.4

4-R14.7 330
/o AN
<
: o
% ; o) [¢]
NG 5

M / Front side

H#~Fi% / Max dim. 313+0.5

6-24.5

E#~ti% / Max dim. 453+0.8

2
s )
REES—INMEY
Surface protective film side
ZEm / Back side
4/ Title A —
. A .
TAKACHI| HASHINFEKIE FN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
=3 v 1] [ ] RF’;/SCNG
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:3.5
iR £ FHt R—/Page
W360 — D500 {ERL B /Date 2022/11/16 6 7/ 7
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

489.4
470
441.4

2@ / Front side

349.4

330

301.4

o
O

(¢}

o
o

H#~ti% / Max dim. 313£0.5

6-24.5

4-M4

H¥~ti% / Max dim. 453+0.8

2
‘s N
REEL—AY
Surface protective film side
N ®/
5 / Back side
4/ Title A —
. A .
TAKACHI| #RL#4HFERTE Thii— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T = = RE/Scale
£%/Approved 12X/ Checked #I[X]/Created FIE /Product number
1:35
iR £ FHt R—/Page
W360 — D500 1 B /Date 2022/11/16 777
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






